PICNIK

© design by dirk wynants & xavier lust

READ INSIDE LANGUAGES
ASSEMBLY INSTRUCTIONS, EN-NL-DE-FR-IT-ES
HOW TO USE, USEFUL TIPS

FOR KEEPING YOUR TOOL FOR MORE

TOGETHERNESS IN SHAPE WWW.EXTREMIS.BE

PRODUCT
PICNIK — FLOOR FASTENING — OPTIONAL FEET — MAINTENANCE

extremis



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

2 contents



CONTENTS

1 x picnik

OPTIONAL

FLOOR FASTENING

B

4 x floor fastening

FLOOR FASTENING HEAVY DUTY

T & @

4 x floor fastening 4 x M6x25 4 x nut M6
heavy duty countersunk bolt

PROTECTIVE FEET FOR DELICATE FLOORS

4

4 x protective feet

(§

4 X spacer

english

3



ASSEMBLY FLOOR FASTENING

WHAT YOU NEED

Z/|JQ|J\\X Z@ 2 people

hex key no. 5

To anchor the Picnik table to the
ground, 4 of the 6 already mounted
stainless steel feet must be removed
and replaced by the 4 stainless steel
feet of the PFL04 ground anchor kit.

6)

+/- 30 min.

W

. Remove the protection caps of the
fastening screws of the 4 feet
indicated on the above drawing

and loosen these screws with a
5 mm Allen wrench.

—

2. Remove the feet.

4. Put some Loctite 270 on the
adjusting screws and tighten the 4
pieces for floormounting with an
Allen wrench number 5 and place
the caps on it again.

w

. Now mark the spots on the ground where you want to anchor the table.
Put the Picnik table aside and drill holes at the indicated spots. Use the
fixing media most suited to the type of ground on which you intend to
install the Picnik table.

4 assembly floor fastening + assembly floor fastening heavy duty

3. Replace them by the 4 new feet.
The side with the holes should
always be facing inwards.




ASSEMBLY FLOOR FASTENING HEAVY DUTY

WHAT YOU NEED

To anchor the Picnik table to the
ground, 4 of the 6 already mounted
2 people stainless steel feet must be removed
and replaced by the 4 stainless steel
N hex key no. 5 feet of the PFLHD04 ground anchor ﬁ
kit. %
0 +/- 30 min. %
4
ZW

QO

I
o
[
[
|

.

V

\SY

1. Remove the protection caps of the 2. Remove the feet. 3. Insert the spacers in the 4 holes
fastening screws of the 4 feet used for anchoring the table to the
indicated on the above drawing ground.

and loosen these screws with a
5 mm Allen wrench.

F.[f =

4. Replace them by the 4 new feet. 5. Fasten them by means of 6. Fix these with nuts M6.
The side with the holes should countersunk bolts M6 x 25.
always be facing inwards.

7. Now mark the spots on the ground, as shown on page 16, where you want to anchor the table. Put the Picnik table
aside and drill holes at the indicated spots. Use the fixing media most suited to the type of ground on which you
intend to install the Picnik table.

english 5



ASSEMBLY PROTECTIVE FEET

WHAT YOU NEED

D

2 people
hex key no. 5

+/- 30 min.

L N

1. Remove the protection caps of the
fastening screws of the 4 feet
indicated on the above drawing
and loosen these screws with a
5 mm Allen wrench.

4. Put some Loctite 270 on the
adjusting screws and tighten the 6
pieces for floormounting with an
Allen wrench number 5 and place
the caps on it again.

To fix the protective feet to the
Picnik, all 6 mounted stainless steel
feet must be removed and replaced
by 6 stainless steel feet for delicate
floors PP06 with felt on the bottom.

W

v

2. Remove the feet.

6 assembly protective feet + maintenance

3. Replace them by the 6 new feet.
The side with the holes should
always be facing inwards.



MAINTENANCE

POWDER COATED
ALUMINIUM

Clean with lukewarm water and a
mild detergent.

ALUMINIUM WITH HIGH
GLOSS FINISH

Clean with lukewarm water and a
mild detergent.

Superficial scratches can be polished
out with a fine polish paste as used
on cars. Then finish with a high
gloss polish.If the damage is still
visible, you can have the entire table
repainted at a local car body shop.

Never use a high pressure cleaner!

STAINLESS STEEL

The rustproof steel plate is a high-
quality polished plate protected by a
self-adhesive PVC film that must be
removed. The surface will inevitably
get scratched, even during normal
use. Mayor scratches can be avoided
by never moving uneven or rough
objects over the table’s surface.

Stains can also appear, but most of
them can be removed with generally
available stainless steel cleaning
products. After cleaning, but also
immediately after the removal of the
protective film and the rests of glue,
you can apply a dirt- repelling film
by spraying a silicon spray onto the
plate and by spreading it out. Never
put stainless steel in direct contact
with metal as this can cause rusting.

english

7



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

8 inhoud



INHOUD

1 x picnik

OPTIONEEL

GRONDVERANKERING

B

4 x grondverankering

GRONDVERANKERING HEAVY DUTY

T & @

4 x grondverankering 4 x verzonken bout 4 x moer M6
heavy duty M6 x 25

BESCHERMVOETJE VOOR DELICATE VLOEREN

4

4 x beschermvoetjte

(§

4 x diktebusje

nederlands

9



MONTAGE GRONDVERANKERING

BENODIGDHEDEN

Om de Picnik te verankeren
aan de grond moeten 4 van de
2 personen 6 roestvast stalen voetjes (die
gemonteerd  geleverd  worden)
inbussleutel nr. 5 vervangen  worden  door de

grondverankeringsset PFL04. De
set voor grondverankering voor
de Picnik bestaat uit 4 voetjes in
roestvast staal.

V

2. Verwijder de voetjes van het
meubel.

6)

+/- 30 min.

.

S

L N

1.Haal de dopjes van de
stelschroeven en  draai de
stelschroeven in de 4 aangeduide
voetjes los met een inbussleutel #5.

4. Doe wat Loctite 270 op de
stelschroeven en draai deze in de
4 stukken voor grondbevestiging
vast met een inbussleutel #5 en
plaats de dopjes er opnieuw op.

w

.Markeer nu de plaatsen op de vloer waar de verankeringen moeten
komen, schuif de Picnik aan de kant en boor op de aangeduide punten.
Gebruik hiervoor de bevestigingsmiddelen die meest geschikt zijn voor de
ondergrond waarop de Picnik moet staan.

10 montage grondverankering + montage grondverankering heavy duty

ﬁ
' 4
4

L

o

F

3.Plaats de 4 nieuwe voetjes op
dezelfde plaatsen op de Picnik.
De opening wijst steeds naar de
binnenkant.




MONTAGE GRONDVERANKERING HEAVY DUTY

BENODIGDHEDEN

Om de Picnik te verankeren aan de
grond moeten 4 van de 6 roestvast
2 personen stalen voetjes (die gemonteerd

geleverd worden) vervangen worden

inbussleutel nr. 5 door de grondverankeringsset ﬁ
PFLHDO04. De set voor %
0 +/- 30 min grondverankering voor de Picnik %
’ bestaat uit 4 voetjes in roestvast
staal. f

W

.Haal de dopjes van de 2.Verwijder de voetjes van het 3. Plaats de diktebusjesin de 4
stelschroeven en  draai de meubel. stukken voor grondbevestiging.

stelschroeven in de 4 aangeduide
voetjes los met een inbussleutel #5.

&

—

4. Plaats nu de 4 nieuwe voetjes op 5. Monteer deze d.m.v. verzonken 6. Bevestig deze nu met moeren M6.
dezelfde plaatsen op de Picnik. De binnenzeskanbouten M6 x 25.
opening wijst steeds naar de
binnenkant.

7. Markeer nu de plaatsen op de vloer zoals op pagina 4 waar de verankeringen moeten komen, schuif de Picnik aan
de kant en boor op de aangeduide punten. Gebruik hiervoor de bevestigingsmiddelen die meest geschikt zijn voor
de ondergrond waarop de Picnik moet staan.

nederlands 1



MONTAGE BESCHERMVOETIES

BENODIGDHEDEN

stalen voetjes (die gemonteerd

Omdebeschermvoetjes tebevestigen
2 personen aan de Picnik moeten alle 6 roestvast

inbussleutel nr. 5 geleverd worden) vervangen worden ¢
door de beschermvoetjes voor %
0 +/- 30 min delicate vloeren PP06. De set voor f ﬁ
) beschermvoetjes voor de Picnik f
bestaat uit 6 voetjes in roestvast staal f

met onderaan vilt.

I
o
[
[
|

S
4

1.Haal de dopjes van de 2.Verwijder de voetjes van het 3.Plaats de 6 nieuwe voetjes op
stelschroeven en  draai de meubel. dezelfde plaatsen op de Picnik.
stelschroeven in de 4 aangeduide De opening wijst steeds naar de
voetjes los met een inbussleutel #5. binnenkant.

4. Doe wat Loctite 270 op de
stelschroeven en draai deze in de
6 stukken voor grondbevestiging
vast met een inbussleutel #5 en
plaats de dopjes er opnieuw op.

12 montage beschermvoetjes + onderhoud



ONDERHOUD

GEPOEDERCOAT
ALUMINIUM

Reiniging met lauw water en zacht
reinigingsmiddel.

ALUMINIUM GLANSLAK

Reiniging met lauw water en zacht
reinigingsmiddel.

Ondiepe  krassen  kan  men
verwijderen door het materiaal
te behandelen met polijstpasta
zoals men ook gebruikt bij auto’s.
Het materiaal nadien best nog
eens symoniseren met hoogglans
beschermer.

Indien de schade nog steeds niet
hersteld is, kan men deze steeds
laten herlakken bij een plaatselijke
carrossier.

Gebruik in geen geval een hogedruk-
reiniger!

ROESTVAST STAAL

De roestvaste staalplaat is van
hoogwaardige geslepen kwaliteit en
voorzien van een zelfklevend PVC
beschermfolie die verwijderd moet
worden. Het is onvermijdelijk dat het
oppervlak, ook bij normaal gebruik,
zal krassen. Grote krassen kunnen
vermeden worden door geen oneffen
of ruwe voorwerpen te verschuiven.

Vlekvorming is eveneens mogelijk,
maar dit kan voor het grootste
deel  verwijderd worden met
inox-reinigingsproducten die in
de handel verkrijgbaar zijn. Na
reiniging, alsook dadelijk na het
verwijderen van het beschermfolie
en de lijmresten ervan, kan een
vuilwerende  film  aangebracht
worden door siliconespray op de plaat
te spuiten en open te wrijven. Breng
roestvast staal nooit rechtstreeks in
contact met metaal, aangezien dit
roestvorming kan veroorzaken.

nederlands

13



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

14 inhalt



INHALT

1 x picnik

OPTIONAL

VERANKERUNG

B

4 x Verankerung

VERANKERUNG HEAVY DUTY

B & @ G

4 x Verankerung 4 x Senkkopfschraube 4 x Muttern M6 4 x Verstiarkungsréhrchen
heavy duty M6 x 25

EDELSTAHLFUSSE MIT FILZSCHUTZ FUR EMPFINDLICHE BODEN

4

4 x Edelstahlfii$e

deutsch 15



MONTAGE BODENVERANKERUNG

WAS SIE BRAUCHEN

Um Picnik im Boden zu verankern
miissen 4 der 6 Edelstahlfiile (die
2 Personen an Picnik montiert sind) durch die

Bodenverankerung PFL04 ersetzt
Inbusschliissel Nt. 5 werden. Das Bodenverankerungsset ﬁ
fur  Picnik  besteht aus 4 f %
0 +/- 30 min. Edelstahlfiilen.

QO

¥

i
i i
! i
il
i

.

V

H
h
'

i

\
F

1. Die Kappen von den 2. Die Fiife von dem Mabelstiick 3. Die 4 neuen Fiife an denselben
Stellschrauben abnehmen und die abnehmen. Stellen von Picnik anbringen.
Stellschrauben der 4 angegebenen Dabei weist die Offnung zur
Fuifle mit einem Inbusschliissel Befestigung im Boden immer
Nr. 5 herausdrehen. nach innen.

4, Stellschrauben mit ‘TLOCTITE
270 betraufeln und diese dann in
die 4 Bodenbefestigungen
einschrauben. Hierzu benutzen Sie
einen Inbusschliissel der Grof3e 5.
Anschliessend die Kappen
zuriickstecken.

5. Markieren Sie jetzt die Stellen am Boden, wo Picnik verankert werden soll,
und schieben Sie Picnik zur Seite. Dann an den angezeichneten Stellen
Lécher bohren. Benutzen Sie hierzu die Befestigungsmittel, die am besten
fur die Unterlage, auf der Picnik stehen sollte, geeignet sind.

16 montage verankerung + montage verankerung heavy duty



MONTAGE BODENVERANKERUNG HEAVY DUTY

WAS SIE BRAUCHEN

Um Picnik im Boden zu verankern
missen 4 der 6 Edelstahlfiifle
2 Personen (die an Picnik montiert sind)

durch  die  Bodenverankerung
Inbusschliissel Nr. 5 PFLHDO4 ersetzt werden. Das ﬁ
Bodenverankerungsset fiir Picnik %
0 +/-30 min besteht aus 4 Edelstahlfiiflen. f

W

4

1. Die Kappen von den 2. Die Fiife von dem Mabelstiick 3. Setzen Sie die
Stellschrauben abnehmen und die abnehmen. Verstarkungsréhrchen in die
Stellschrauben der 4 angegebenen Locher fiir die Bodenbefestigung
Fuifle mit einem Inbusschliissel ein.
Nr. 5 herausdrehen.
)
4. Die 4 neuen Fiifie an denselben 5. Befestigen Sie sie mit 6. Befestigen Sie sie mit Muttern M6.

Stellen von Picnik anbringen. Senkkopfschraube M6 x 25.
Dabei weist die Offnung zur

Befestigung im Boden immer

nach innen.

7. Markieren Sie jetzt die Stellen am Boden, wie auf Seite 22 gezeigt, wo Picnik verankert werden soll, und schieben
Sie Picnik zur Seite. Dannan denangezeichneten Stellen Locher bohren. Benutzen Sie hierzu die Befestigungsmittel,
die am besten fiir die Unterlage, auf der Picnik stehen sollte, geeignet sind.

deutsch 17



MONTAGE EDELSTAHLFUSSE

WAS SIE BRAUCHEN

’@@

1.

18

Um Edelstahlfiisse mit Filzschutz
zu befestigen an den Picnik Tisch
miissen 6 Edelstahlfiisse (die An
Picnik montiert sind) durch die
Edelstahlfiisse PP06 ersetz werden.

2 Personen
Inbusschliissel Nr. 5

D

+/- 30 min.

g
;

2. Die Fif3e von dem Mdbelstiick
abnehmen.

L N

Die Kappen von den
Stellschrauben abnehmen und die
Stellschrauben der 4 angegebenen
Fifle mit einem Inbusschliissel
Nr. 5 herausdrehen.

. Stellschrauben mit ‘LOCTITE

270’ betraufeln und diese dann in
die 4 Bodenbefestigungen
einschrauben. Hierzu benutzen
Sie einen Inbusschliissel der
Grosse 5. Anschliessend die
Kappen zuriickstecken.

montage edelstahlfiiBe mit filzschutz + pflege

3. Die 6 neuen Fiifle an denselben
Stellen von Picnik anbringen.
Dabei weist die Offnung zur
Befestigung im Boden immer
nach innen.



PFLEGE

ALUMINIUM MIT
STRUKTURIERTE
PULVERBESCHICHTUNG

Mit lauwarmem Wasser und einem
milden Reinigungsmittel reinigen.

ALUMINIUM MIT
GLANZEND PULVERBE-
SCHICHTUNG

Mit lauwarmem Wasser und einem
milden Reinigungsmittel reinigen.

Oberflachliche Kratzer lassen sich
entfernen, indem man das Material
mit einer Polierpaste behandelt, wie
sie auch fiir Autos verwendet wird.
Das Material danach am besten
noch einmal mit Hochglanzschutz
behandeln. Wenn der Schaden noch
immer nicht behoben ist, kann
man Picnik bei einem ortlichen
Karosserielackierer neu lackieren
lassen.

Verwenden Sie keinesfalls einen
Hochdruckreiniger!

EDELSTAHL

Die rostfreie Stahlplatte ist von
hochwertiger geschliffener Qualitit.
Sie ist mit einer zu entfernenden
selbstklebenden PVC-Schutzfolie
versehen. Auch bei normaler
Verwendung wird die Oberfliche
zerkratzen. Vermeiden Sie aber grofle
Kratzer, und verschieben Sie keine
unebenen oder rauhen Objekte.

Flecke konnen ebenso vorkommen.
Sie konnen aber mit den im Handel
erhéltlichen
Inoxreinigungsprodukten zum
grofiten Teil entfernt werden. Nach
Reinigung  sowie gleich  nach
Entfernung der Schutzfolie
und deren Leimreste, kann ein
Film  gegen  Verschmutzungen
angebracht werden. Sprithen Sie
dazu Silikonespray auf die Platte,
und reiben Sie es auf. Bringen Sie
Edelstahl  niemals  unmittelbar
mit Metall in Kontakt, da dies
Rostbildung auslésen kann.

deutsch

19



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

20 contenu



CONTENU

1 x picnik

OPTION

ANCRAGE AU SOL

B

4 x ancrage au sol

ANCRAGE AU SOL HEAVY DUTY

B

4 x ancrage au sol 4 x vis a téte fraisée
heavy duty M6 x 25

PROTECTIONS POUR SOLS FRAGILES

4

4 x protections pour sols
fragiles

&

4 x écrou M6

(§

4 x bague de réduction de

diameétre

francais

21



MONTAGE ANCRAGE AU SOL
OUTILS

Pour fixer la table Picnik dans le sol,
il faut remplacer 4 des 6 pieds en
2 personnes acier inoxydable (qui sont livrés déja

montés) par le kit de fixation PFL04.

clé alene n° 5 Le kit de fixation de la table Picnik
0 +/- 30 min acier inoxydable.

4

dans le sol se compose de 4 pieds en f ﬁ %

F

1. Otez les capuchons des vis de 2. Retirez les pieds concernés. 3. Remplacez ces pieds par les 4
réglage des 4 pieds indiqués sur nouveaux pieds. Le coté avec le
I'illustration et desserrez les vis au trou doit toujours étre orienté vers
moyen d’une clé aléne #5. Pintérieur.

4. Mettez un peu de Loctite 270 sur
les vis de réglage et serrez les 4
piéces pour montage au sol avec
une clé aléne n#5 et remettez les
capuchons au-dessus.

w

. Marquez a présent sur le sol les endroits ot doivent venir les fixations.
Poussez la table Picnik sur le c6té et forez les trous aux endroits indiqués.
fixez-la au sol @ I'aide des moyens de fixation les plus appropriés au type de
sol ot vous entendez monter la table Picnik.

22 montage ancrage au sol + montage ancrage au sol heavy duty



MONTAGE ANCRAGE AU SOL HEAVY DUTY

OUTILS

Pour fixer la table Picnik dans le sol,
il faut remplacer 4 des 6 pieds en
2 personnes acier inoxydable (qui sont livrés déja

montés) par le kit de fixation PFL04.

clé aléene n° 5 Le kit de fixation de la table Picnik ¢
dans le sol se compose de 4 pieds en %
0 +/- 30 min acier inoxydable. f

W

4

1. Otez les capuchons des vis de 2. Retirez les pieds concernés. 3. Insérez les bagues de réduction de
réglage des 4 pieds indiqués sur diametre dans le 4 orifices utilisés
Iillustration et desserrez les vis au pour la fixation dans le sol.

moyen d’une clé aléne #5.

4. Remplacez ces pieds par les 4 5. Fixer le au moyen de vis a téte 6. Fixez le avec les écrous M6.
nouveaux pieds. Le coté avec le fraisée M6 x 25.
trou doit toujours étre orienté vers
lintérieur.

7. Marquez a présent sur le sol, comme indiqué a la page 10, les endroits ot doivent venir les fixations. Poussez la table
Picnik sur le coté et forez les trous aux endroits indiqués. fixez-la au sol a 'aide des moyens de fixation les plus
appropriés au type de sol oli vous entendez monter la table Picnik.

francais 23



MONTAGE PROTECTIONS POUR SOLS FRAGILES

OUTILS

faut remplacer les 6 pieds en acier
inoxydable (qui sont livrés déja
montés) par lekit de protections pour
0 +/- 30 min sols fragiles. Le kit de protections de
) la table Picnik se compose de 6 pieds

en acier inoxydable avec du feutre.

W

1. Otez les capuchons des vis de 2. Retirez les pieds concernés.
réglage des 4 pieds indiqués sur

Iillustration et desserrez les vis au
moyen d’une clé aléne #5.

clé aléne n® 5

Z@@ Pour fixer la table Picnik avec des
2 personnes protections pour sols fragiles, il

4. Mettez un peu de Loctite 270 sur
les vis de réglage et serrez les 6
piéces pour montage au sol avec
une clé alene n#5 et remettez les
capuchons au-dessus.

24 montage protections pour sols fragiles + entretien

3. Remplacez ces pieds par les 6
nouveaux pieds. Le coté avec le
trou doit toujours étre orienté vers
Pintérieur.



ENTRETIEN

ALUMINIUM PEINTURE
POUDREE

Nettoyage avec de l'eau tiéde et un
détergent doux.

ALUMINIUM LAQUE
BRILLANTE

Nettoyage avec de 'eau tiede et un
détergent doux.

Les griffes superficielles peuvent étre
éliminées en traitant la table avec une
péte a polir similaire a celle que 'on
utilise pour les voitures. Il est
recommandé d’ensuite simoniser la
table avec un produit de protection
haute brillance. Si le dommage n’est
pas réparé apres ce traitement, il est
possible de faire relaquer la table chez
un carrossier.

N’utilisez en aucun cas de nettoyeur
haute pression!

ACIER INOXYDABLE

La plaque en acier inoxydable est
de la plus haute qualité et est munie
d’une feuille de protection en PVC
adhésive qui doit étre enlevée. La
surface se rayera inévitablement,
méme en cas d’usage normal. On
peut éviter les grosses rayures en n’y
faisant pas glisser des objets rugueux
ou inégaux.

Des taches peuvent aussi apparaitre.
Vous les éliminerez aisément grace
aux produits d’entretien de l'inox,
disponibles dans le commerce.
Aprés nettoyage, ainsi qulaprés
I’élimination effective de la feuille
de protection et des restes de colle
de celle-ci, vous pouvez appliquer
un film insalissable en vaporisant
un spray de silicone et en le frottant
a l’air libre. Ne mettez jamais 'acier
inoxydable au contact direct d’un
métal; cela risquerait de provoquer la
formation de rouille.

francais

25



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

26 contenuto



CONTENUTO

1 x picnik

OPZIONALE

SISTEMA DI FISSAGGIO AL SUOLO

B

4 x sistema di fissaggio al suolo

SISTEMA DI FISSAGGIO AL SUOLO HEAVY DUTY

T & @

4 x sistema di fissaggio al 4 x bullone incassato 4 x dadi M6
suolo heavy duty M6 x 25

PIEDINI PROTETTIVI PER PAVIMENTAZIONI DELICATE

4

4 x piedini protettivi per pavimentazioni delicate

(§

4 x boccola

italiano

27



ASSEMBLAGGIO FISSAGGIO AL SUOLO

NECESSARIO PER IL MONTAGGIO

Per fissare Picnik al terreno, 4 dei 6

piedini in acciaio inox (che vengono

2 persone forniti montati) devono essere

N sostituiti con il set di ancoraggio a

chiave a brugola n. 5 terra PFL04, composto da 4 piedini
in acciaio inox.

P +30min t
0
Lo

5

§

¢
ﬁ

L N

F

1. Togliere i cappucci dalle viti di 2. Staccare i piedini dal mobile. 3. Alloro posto applicare i 4 piedini
regolazione nei 4 piedini indicati nuovi. Il foro ¢ sempre rivolto
e svitare le stesse mediante una verso I’interno.

chiave a brugola da 5.

4. Avvitare le viti di regolazione nei 4
piedini per il fissaggio a terra
utilizzando una chiave a brugola
da 5 e rimettervi i cappucci.

w

. Segnare ora sul terreno i punti in cui andra fissato Picnik, spingerlo da
un lato e forare con un trapano i punti individuati. Fissarla al suolo con i
dispositivi di fissaggio pitt appropriati al tipo di terreno sul quale si intende
posizionare il tavolo Picnik.

28 montage sistema di fissaggio al suolo + montage sistema di fissaggio al suolo heavy duty



ASSEMBLAGGIO FISSAGGIO AL SUOLO HEAVY DUTY

NECESSARIO PER IL MONTAGGIO

Per fissare Picnik al terreno, 4 dei 6
piedini in acciaio inox (che vengono
2 persone forniti montati) devono essere

—

sostituiti con il set di ancoraggio
chiave a brugola n. 5 a terra PFLHDO4, composto da 4 ﬁ
piedini in acciaio inox. f %

0 +/- 30 min.

W

4

. Togliere i cappucci dalle viti di 2. Staccare i piedini dal mobile. 3. Inserire le boccole nei 4 fori per il

regolazione nei 4 piedini indicati fissaggio a terra.
e svitare le stesse mediante una
chiave a brugola da 5.

. Alloro posto applicare i 4 piedini 5. Fissarlo per mezzo di bullone 6. Fissarlo per mezzo di dadi Mé.

nuovi. I foro & sempre rivolto incassato M6 x 25.
verso I'interno.

7. Segnare ora sul terreno i punti, come illustrato a pagina 22, in cui andra fissato Picnik, spingerlo da un lato e forare

con un trapano i punti individuati. Fissarla al suolo con i dispositivi di fissaggio pit appropriati al tipo di terreno
sul quale si intende posizionare il tavolo Picnik.

italiano 29



MONTAGGIO PIEDINI PROTETTIVI PER PAVIMENTAZIONI DELICATE

NECESSARIO PER IL MONTAGGIO

vengono forniti montati) devono
essere sostituiti con il set di piedini ¢

Per fissare piedini protettivi al
2 persone Picnik, 6 piedini in acciaio inox (che

chiave a brugolan. 5 oo
protettivi PP06, composto da 6

0 +/- 30 min. piedini per pavimentazioni delicate. f ﬁ

e M

I
o
[
[
|

S
4

1. Togliere i cappucci dalle viti di 2. Staccare i piedini dal mobile. 3. Alloro posto applicare i 4 piedini
regolazione nei 4 piedini indicati nuovi. Il foro ¢ sempre rivolto
e svitare le stesse mediante una verso I’interno.

chiave a brugola da 5.

4. Avvitare le viti di regolazione nei 4
piedini per il fissaggio a terra
utilizzando una chiave a brugola
da 5 e rimettervi i cappucci.

30 montage piedini protettivi per pavimentazioni delicate + manutenzione



MANUTENZIONE

ALLUMINO VERNICATO A
POLVORE

Pulire con acqua tiepida e un
detergente non aggressivo.

ALLUMINO LACCATO
LUCIDO

Pulire con acqua tiepida e un
detergente non aggressivo.

E  possibile rimuovere  graffi
superficiali trattando il materiale con
la stessa pasta per pulitura (polish)
utilizzata per le automobili. E poi
consigliabile lucidare ancora una
volta la superficie con un prodotto
protettivo brillante. Se il graffio non
€ comunque stato rimosso, ¢ sempre
possibile far riverniciare la superficie
presso una carrozzeria di fiducia.

In nessun caso utilizzare
un’idropulitrice!

ACCIAIO INOX

Lalamina di acciaio resistente alla
ruggine ¢ una lamina lucidata di
elevata qualita protetta da una
pellicola in PVC autoadesiva che
deve essere rimossa. La superficie
sara inevitabilmente graffiata, anche
durante un uso normale. I graffi
pitt evidenti possono essere evitati
non spostando mai oggetti non
uniformi o ruvidi sulla superficie
del tavolo. Possono anche comparire
macchie, ma la maggior parte
possono essere rimosse con prodotti
per pulizia dell’acciaio inossidabile
generalmente disponibili.

In seguito alla pulizia, ma anche
immediatamente dopo la rimozione
della pellicola protettiva e dei resti
di colla, ¢ possibile applicare una
pellicola repellente dello sporco
spruzzando uno spray al silicone
sulla lamina e cospargendolo con
lo stesso. Non mettere mai l'acciaio
inossidabile a diretto contatto con il
metallo, poiché cio potrebbe causare
la ruggine.

italiano

31



LANGUAGES

ENGLISH P.3
contents p.3
assembly floor fastening p. 4
assembly floor fastening heavy duty p.b
assembly protective feet for delicate floors p.6
maintenance p.7
NEDERLANDS P.9
inhoud p.9
montage grondverankering p. 10
montage grondverankering heavy duty p. 11
montage beschermvoetjes voor delicate vioeren p. 12
onderhoud p. 13
DEUTSCH P. 15
inhalt p. 15
montage verankerung p. 16
montage verankerung heavy duty p. 17
montage edelstahlfiiBe mit filzshutz p. 18
pflege p. 19
FRANCAIS P. 21
contenu p. 21
montage ancrage au sol p. 22
montage ancrage au sol heavy duty p. 23
montage protection pour sols fragiles p. 24
entretien p. 25
ITALIANO P. 27
contenuto p. 27
montaggio fissaggio al suolo p. 28
montaggio fissaggio al suolo heavy duty - p.29
montaggio piedini protettivi p. 30
manutenzione p. 31
ESPANOL P. 33
contenido p. 33
montaje anclaje al suelo p. 34
montaje anclaje al suelo heavy duty p. 35
montaje pies protectores para suelos delicados . p. 36
mantenimiento p. 37

32 contenido



CONTENIDO

1 x picnik

OPCIONAL

ANCLAJE AL SUELO

B

4 x anclaje al suelo

ANCLAJE AL SUELO HEAVY DUTY

T & @

4 x anclaje al suelo 4 x tornillo avellanado 4 x tuerca M6
heavy duty M6 x 25

PIES PROTECTORES PARA SUELOS DELICADOS

4

4 x pies protectores para
suelos delicados

(§

4 x distanciador

espafiol

33



MONTAIJE ANCLAIJE AL SUELO

UTENSILOS

Para anclar la Picnik al suelo, hace
falta reemplazar 4 de los 6 pies de
2 personas acero inoxidable (premontados)

por el conjunto de anclaje al suelo

llave macho hexagonal ppr 4, que consiste de 4 pies de ﬁ

no. 5 acero inoxidable.

0 +/- 30 min. %

—>

I '
[ h
[ i
[ h

| |

. (s

1. Quite los tapones de los tornillos 2. Quite los pies del mueble. 3. Monte los 4 pies nuevos en los
de ajuste y destornille los tornillos mismos lugares de la Picnik. E1
de ajuste en los 4 pies marcados, agujero siempre sefiala hacia
empleando un llave macho dentro.

hexagonal #5.

4. Atornille los tornillos de ajuste
en los 4 piezas del anclaje al suelo,
empleando un llave macho
hexagonal #5, y vuelva a colocar
los tapones.

5. Ahora marque los lugares en el suelo donde se deben instalar los anclajes,
deje de lado la Picnik y taladre en los lugares marcados. fijela al suelo con
los medios de fijacion mas adecuados para el tipo de suelo en el que se
encuentre la mesa Picnik.

34 montaje conjunto de anclajes al suelo + montaje conjunto de anclajes al suelo heavy duty



MONTAIJE ANCLAIJE AL SUELO HEAVY DUTY

UTENSILOS

Para anclar la Picnik al suelo, hace
falta reemplazar 4 de los 6 pies de
2 personas acero inoxidable (premontados)

por el conjunto de anclaje al suelo

llave macho hexagonal ppr 4, que consiste de 4 pies de ﬁ
no. 5

0 +/- 30 min.

acero inoxidable.

W

1. Quite los tapones de los tornillos 2. Quite los pies del mueble. 3. Coloque los distanciadores en las
de ajuste y destornille los tornillos 4 piezas para el anclaje al suelo.
de ajuste en los 4 pies marcados,

empleando un llave macho
hexagonal #5.

F.[f =

4. Monte los 4 pies nuevos en los 5. Fijarla por medio de tornillos 6. Fijarla por medio de tuerca M6.
mismos lugares de la Picnik. E1 avellanado M6 x 25.
agujero siempre sefiala hacia
dentro.

7. Ahora marque los lugares en el suelo, como se muestra en la pagina 22, donde se deben instalar los anclajes, deje
de lado la Picnik y taladre en los lugares marcados. fijela al suelo con los medios de fijacién mas adecuados para el
tipo de suelo en el que se encuentre la mesa Picnik.

espafol 35



MONTAIJE PIES PROTECTORES PARA SUELOS DELICADOS

UTENSILOS

de acero inoxidable (premontados)
llave macho hexagonal por el conjunto de pies protectores ¢

Z/|T|J\X @ Para fijarlospies protectoresal tavolo
2 personas Picnik, hace falta reemplazar 6 pies

no. 5 para suelos delicados PP06.

0 +/- 30 min. % % %

W

I
o
[
[
|

S
4

1. Quite los tapones de los tornillos 2. Quite los pies del mueble.

3. Monte los 4 pies nuevos en los

de ajuste y destornille los tornillos
de ajuste en los 4 pies marcados,
empleando un llave macho
hexagonal #5.

4. Atornille los tornillos de ajuste
en los 4 piezas del anclaje al suelo,
empleando un llave macho
hexagonal #5, y vuelva a colocar
los tapones.

36 montaje pies protectores para suelos delicados + mantenimiento

mismos lugares de la Picnik. E1
agujero siempre sefiala hacia
dentro.



MANTENIMIENTO

ALUMINIO CON PINTURA
EN POLVO

Limpiar con agua tibia y detergente
suave.

ALUMINIO CON PINTURA
BRILLANTE

Limpiar con agua tibia y detergente
suave.

Para quitar arafiazos superficiales,
tratar el material con pasta de pulir
como para coches. Después, dar
brillo con una laca celuldsica.

Si no se reparan los dafos, dejar
repintar por un empresa de
carroceria local.

iDe ninguna manera emplear un
limpiador de alta presion!

ACERO INOXIDABLE

La plancha de acero inoxidable
y afilado de gran calidad estd
recubierta de un film protector de
PVC, autoadhesivo y removible.
Es inevitable que la superficie se
raye aun bajo un uso normal. No se
recomienda arrastrar objetos dsperos
para evitar la formacion de
nervaduras.

También es inevitable que la
superficie se manche, pero existen
productos especificos de limpieza
inox, de venta en las tiendas, para
quitar en gran parte estas manchas.
Una vez limpia la mesa, asi como
inmediatamente después de haber
quitado el film protector y los una
restos de cola, se puede aplicar
pelicula repelente de suciedad
mediante un spray silicone. No ponga
jamas en contacto directo el acero
inoxidable con un metal, puesto que
puede causar la formacion de 6xido.

espafiol

37



extremis



0
<@~
3
e%a
]
@)
.

q%b

3D PLANNER &
CONFIGURATOR

Check out the Extremis app:
Take a picture of your garden
and drag&drop tools for
togetherness in it!

WWW.EXTREMIS.BE



Extremis NV

o
® Couthoflaan 20b
extremis
t +32 57 346020
info@extremis.be

www.extremis.be

for more products go to
WWW.EXTREMIS.COM

»
]
4
b
IS

-
]

All images, ideas, designs and design content are the intellectual property
of Extremis and may not be copied, imitated or used, in whole or in part,
without the prior written permission of Extremis.

© extremis



